ITEC 120 – Ch 2 worksheet  – Brenneman



Name: 





Write the output for each of the println statements:

int a = 1, b = 2, c = 3;

1)
System.out.println(a);

2)
System.out.println("the value of a is: " + a);

3)
System.out.println(a + b + c);

4)
System.out.println("the value of a + b + c is: " + a + b + c);

5)
System.out.println(a + b + c + " is the value of a + b + c");

6)
System.out.println(a + b + "+" + c);

7)
System.out.println(a + " + " + b + " + " + c + " = " + (a + b + c));

8)
System.out.println("" + a + b + c);

9)
System.out.println(a + " " + b + c);

int sum;

 
sum = a + b + c;

10)
System.out.println(sum);

sum = sum + 1;

11)
System.out.println(sum);

12)
System.out.println(sum+1);


int newint = sum + b * c + a;

13)
System.out.println("newint is: " + newint);

newint = c / b;

14)
System.out.println("newint is: " + newint);

newint = b / c;

15)
System.out.println("newint is: " + newint);

newint = c % b;

16)
System.out.println("newint is: " + newint);

newint = c + 2 / b + 4;

17)
System.out.println("newint is: " + newint);

newint = c * c * c / a + 1;

18)
System.out.println("newint is: " + newint);

double result;

result = 3.0 / 2.0;

19)
System.out.println("result is: " + result);

result = 3 / 2;

20)
System.out.println("result is: " + result);

result = c / b;

21)
System.out.println("result is: " + result);

result = (double) c / b; 

22)
System.out.println("result is: " + result);

result = b / c;

23)
System.out.println("result is: " + result);

result = (double) b / c;

24)
System.out.println("result is: " + result);

result = (float) b / c;

25)
System.out.println("result is: " + result);

result = b / 3.0;

26)
System.out.println("result is: " + result);


int answer = 5;


answer = 3 + answer – (answer/2) * 2;

27)
System.out.println("answer is: " + answer);


answer = (b + c) / (5 + a);

28)
System.out.println("answer is: " + answer);


answer = c * c / (1 + a);

29)
System.out.println("answer is: " + answer);


answer = c * c * c % (2 + b);

30)
System.out.println("answer is: " + answer);

Answers:

1)      1

2)      the value of a is: 1

3)      6

4)      the value of a + b + c is: 123

5)      6 is the value of a + b + c

6)      3+3

7)      1 + 2 + 3 = 6

8)      123

9)      1 23

10)     6

11)     7

12)     8

13)     newint is: 14

14)     newint is: 1

15)     newint is: 0

16)     newint is: 1

17)     newint is: 8

18)     newint is: 28

19)     result is: 1.5

20)     result is: 1.0

21)     result is: 1.0

22)     result is: 1.5

23)     result is: 0.0

24)     result is: 0.6666666666666666

25)     result is: 0.6666666865348816

26)     result is: 0.6666666666666666

27)     answer is: 4

28)     answer is: 0

29)     answer is: 4

30)     answer is: 3

